H & 0l & AHS B Ml A

20238 =0ila eI S

SN COIFOfQI Dt
M MIISX SE(MEIEX/AMEIERILE)
&2l LoI=X &8 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
L OIZOH Q! 1t 128,647,539 114,741,283 13,906,256
= 86, 165,688
[ 65,410
Jl 155,769
< 7,744,189
Al 34,516,483
AEIE X ST (SIS R/ AISI S X2 E) 106,463,008 95,168,098 11,294,910
= 74,756,858
s 65,410
Il 185,769
= 5,375,719
Al 26,109,252
LoI=X S8 87,547,658 79,303,687 8,243,971
= 72,535,655
s 33,730
Il 185,769
= 2,938,091
Al 11,884,413
oISk A 539,740 212,998 326,742
201 er23| 43,500 43,500 0
01 AtR2t2|HI 17,000 17,000 0
Odgt+=H| 9,000,000& 9,000
(©f==ix] 5,000,000& 5,000
oolHolg % olo) & 222 MA
3,000,000& 3,000
2 s5=34l 1,500 1,500 0
0332 € HAl 1,500,000 1,500
03 A= I 25,000 25,000 0
O0HOoId &AL XA 25,000,000 25,000
202 04| 18,000 18,000
01 =LHOLI 18,000 18,000
OZEH0H 18,000,000 18,000
203 HR=H] 3,000 3,000
03 A=A R =AH] 3,000 3,000
OLQI= g2 =& 1,000,000& 1,000
OAlgae| g% =4 1,000,000& 1,000
OFMA=X S =8 1,000,000 1,000
301 22N = 122,760 0 122,760
4 JIE2 8= 122,760 0 122,760
OXSESAN =& &4l K&
30,0002 x341H~12& 122,760
307 elzto| & 362,480 148,498 203,982
03 2N EE2SHIEx 220,080 54,498 165,582




SA: LoIE0H et
M AMS=EX SE(AMSSXI/AISIS X L
Celr LRI=X E& EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OUHet-2I3| AIEAIXIE 2gH| XI#
220,080,000& 220,080
11 Al =SXAMSEES 132,400 4,000 38,400
O3d=2Y 3l¥ W=sHl XA
8,400,002 8,400
OLw0lol & IlY U 024l BOISHSHS
75,000,000& 75,000
OLQIHLUSE AES| MSHA
11,000,000& 11,000
OUHHOIY Z2AL XA
38,000,000 38,000
Lolorats XA 1,800 13,900 A12,100
T 450
Al 1,350
307 212+01 A 1,800 13,900 A12,100
& 450
Al 1,350
11 AR SXAMEES 1,800 13,900 A12,100
ouzssd 249 1,800,000& 1,800
& 450
Al 1,350
SOIH SR K2 (KEA) 12,000 12,000 0
307 2I2+0l™ 12,000 12,000
1 ABIZXIA X 12,000 12,000
OLol YH2| Ohal Al X
500,000& x2ZF = 12& 12,000
SOIDMEAICH X 63,000 81,000 A 18,000
& 18,900
Al 44,100
301 LPENSZ 63,000 81,000 A 18,000
& 18,900
Al 44,100
03 A B EH5S (XY M) 63,000 81,000 A 18,000
OLCIOEANI XI& 63,000,000& 63,000
& 18,900
Al 44,100
CSME XA 25 66,470 70,434 A3,964
T 31,904
Al 34,566
301 LPENZ 17,720 23,790 26,070
& 12,404
Al 5,316
03 A B EE IS (XY HE) 17,720 23,790 6,070




SN COIFOfQI Dt
M MIISX SE(MEIEX/AMEIERILE)
gelr LoISX B8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMAS 024 d=4cH)| NS
9,170,000& 9,170
= 6,419
Al 2,751
oo gelg 28] X3
8,550,000& 8,550
< 5,985
Al 2,565
307 glztol & 48,750 46,644 2,106
= 19,500
Al 29,250
11 AMEISXAIEEXS 48,750 46,644 2,106
ofRzdzAd 29 48,750,000& 48,750
= 19,500
Al 29,250
CEME X@ 23 288,800 288,800 0
301 22N = 20,000 20,000
03 A 2E A4S (XL THH) 20,000 20,000
ONMAS 024 BHI| 7e X
20,000,000 20,000
307 elztol & 268,800 268,800
1 AMEISXAEEES 268,800 268,800
oRzI2AE 2 (XHH)
198,000,000 198,000
OAAL HHE AMHIA XI& 70,800,000 70,800
celEXe2 23 45,000 45,000 0
201 223 45,000 45,000
01 At22t2ltl 20,000 20,000
OoeI=kgla 24 20,000,000 20,000
2 35234l 25,000 25,000 0
oe=kga 29 15,000,000 15,000
o2g=ia& 29 10,000,000 10,000
MRS g2 29 91,400 317,876 N226,476
101 ©1AH| 38,400 32,976 5,424
04 JIZtN2Z2 XS E+ 38,400 32,976 5,424
OJIZtHl 22X+ el2iH]
76,9603 x2 B x25 U+ 34,632
CAUEE(OI2RE=Z)
34,632,0002 %10.88% 3,768
201 er23y| 48,000 53,000 /5,000
01 AtR2t2|HI 18,000 23,000 25,000
ogegt+=ZHI 5,000,000 5,000
Onz Y =UMIY Y EES NH
3,000,000 3,000




FA I OoNer
3 ABISX ST (ARISXI/AEI ST et
&2l LoI=X &8 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
onz1d4E == & HE57Y
10,000,000 10,000
02 S3=gHl 30,000 30,000 0
OFI|, B4, NA, MElAER
20,000,000& 20,000
ORIl 201, HI|otA, Al
10,000,000 10,000
405 AHaHE S 5,000 231,900 A226,900
01 ML ESF SHI 5,000 231,900 A226,900
OAREJ1D] 7L 5,000,000& 5,000
colgiiel & ASIESXI2AY 2 7,150,989 7,298,758 N147,769
= 3,575,494
= 1,072,648
Al 2,502,847
101 @124H| 1,000,346 1,004,298 A3,952
= 500,173
< 150,062
Al 360, 121
03 SR (RIAA)22XE 49,946 53,898 N3,952
Ol Xiel IAt|
1,976,000 x2&» 122 47,424
= 23,712
[ 7,114
Al 16,598
ool Iiel MIH&H| 2,522,000& 2,522
= 1,261
[ 378
Al 883
M JIZtHZ22 S 2 950,400 950,400 0
Oelgiiel SUEs
27,0002 +320& 10 11 950,400
= 475,200
< 142,560
Al 332,640
201 er2 3| 48,000 48,000 0
= 24,000
< 7,200
Al 16,800
01 At2teltl 20,000 25,000 /5,000
O QAL 2SI A 20,000,000 20,000
= 10,000
== 3,000
Al 7,000
2 352484l 28,000 23,000 5,000




A olEolel D
M AMS=EX SE(AMSSXI/AISIS X L
Celr LRI=X E& EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O QIAIS|IESXIAAL 28,000,000& 28,000
= 14,000
= 4,200
Al 9,800
301 LetENEZ 4,800 9,600 A4,800
= 2,400
= 720
Al 1,680
11 AP S 4,800 9,600 24,800
OLIAS B S A 4,800,000 4,800
= 2,400
= 720
Al 1,680
34 HAFRESS 8,752 0 8,752
= 4,376
= 1,313
Al 3,063
M SRA(RINHS) 22X B8R82S 8,752 0 8,752
OLoIUNR ERALRET
3,952,000& 3,952
= 1,976
& 533
Al 1,383
OLolYdxiel AUHBE DA RLE)
4,800,000 4,800
= 2,400
= 720
Al 1,680
307 QIZ2t01 A 6,089,091 6,236,860 A147,769
= 3,044,545
= 913,363
Al 2,131,183
11 Al =SXAMEES 6,089,091 6,236,860 A147,769
O QNS E2 S KA (=3I 2)
6,089,091,000& 6,089,091
= 3,044,545
& 913,363
Al 2,131,183
colgdxiel & AMSIESKIAAY EOH(XEA) 11,935 9,000 2,935
101 @124t 6,935 4,000 2,935
03 SRA(RINHL) 222+ 6,935 4,000 2,935
oXgIsE HEFII 2,900,000& 2,900
O=HIERA == 2,880,000& 2,880




A =QIE0HRI Dt
. A=K SE(MISK/ALSISKILE
Celr LRI=X E& EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Odgod AXRSFIIE
6203 x 1 +BA| 2hx 152 1,155
201 Ler2 | 5,000 5,000
01 At 2telt] 5,000 5,000
o=2gt| 5,000,000& 5,000
AMLIHZEE XI& 300,000 300,000 0
= 60,000
Al 240,000
307 QI2HO| M 300,000 300,000 0
& 60,000
Al 240,000
10 Al S XAIEHE 22X 300,000 300,000 0
OAlLIIZ2Y 29 300,000,000 300,000
& 60,000
Al 240,000
Lol Rte] H@EQIE XAAY 80,100 80,100 0
s 33,730
& 14,980
Al 31,390
307 QI2Hol M 80,100 80, 100 0
= 33,730
= 14,980
Al 31,390
" ASI=SXAIEEE 80,100 80, 100 0
Lol Xtel BEIEHXIA
80, 100,000 80,100
s 33,730
= 14,980
Al 31,390
224 294l K& 285,600 648,600 A363,000
& 28,560
Al 257,040
307 QI2Hol ™ 285,600 648,600 363,000
= 28,560
Al 257,040
10 Al SXAEHE2EHIEX 285,600 372,600 287,000
OZ2Y 294l X& 285,600,000 285,600
= 28,560
Al 257,040
Z2Y 2L (XHA) 75,000 90,000 A 15,000
201 Ler23| 5,000 20,000 A 15,000
01 ArR22teltl 5,000 20,000 A 15,000




SN COIFOfQI Dt
M AlSI2X SE(AISIEX]/ A2 2R
& LoI=X| & (e &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
0Z2Y(0I25I2) NS JI(33) 72
5,000,000& 5,000
301 LEtEXZ 70,000 70,000
03 AFSIE A XM 462 (XIZTHH) 70,000 70,000
OLOIOIIAE RAH S XIg
70,000,000& 70,000
nssdz4 29A& 23,200 23,855 A\B55
201 LEt2AH| 1,000 1,000 0
01 AFR22telt| 1,000 1,000 0
onls=Z=g Lz
1,000,000& 1,000
301 LEtEAZ 2,520 2,69 A175
03 AFSIE &M 462 (XIHTHH) 2,520 2,695 A175
onls=zzg ¥z
2,520,000& 2,520
307 S1Zto| ™ 19,680 20,160 AN480
10 AISISEXIAIEEE2IHIEX 19,680 20,160 A480
OlISEZE=zY 29| 7,200,000& 7,200
OlISEZE=zE LHEH| 11,100,000& 11,100
onlsEsazye Wet| 1,380,000 1,380
JEG dHutgiy| 2 2k=H| X3 685, 148 716,710 A31,562
= 342,574
& 102,772
Al 239,802
201 LBr2Ab| 8,757 12,075 N3,318
= 4,379
= 1,314
Al 3,064
01 AFR2telHl 8,757 12,075 N3,318
OsSESH=Y A=EHHH] 8,757,000& 8,757
= 4,379
< 1,314
Al 3,064
301 LEtEXZ 88,551 128,635 N40,084
= 44,275
< 13,282
Al 30,994
01 ARSI E X462 (ZDEEXZME) 88,551 128,635 N40,084
OSEE=E A=23722H| 88,551,000& 88,551
= 44,275
= 13,282
Al 30,994
307 2I12+0| & 587,840 576,000 11,840




SN COIFOfQI Dt
M MIISX SE(MEIEX/AMEIERILE)
&2l LoI=X &8 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 293,920
=S 88,176
Al 205,744
10 Al SXAEEE 22X 587,840 576,000 11,840
OSSZ=2E | 526,040,000 526,040
= 263,020
= 78,906
Al 184,114
OSE3=E 61,800,000 61,800
= 30,900
= 9,270
Al 21,630
SELSA SN2 2 28,600 28,600 0
== 8,580
Al 20,020
307 212+01& 28,600 28,600 0
< 8,580
Al 20,020
10 Al SXAEEHE2EHI 22X 28,600 28,600 0
OHHLSEAR A2 SALL =& X2
28,600,000& 28,600
= 8,580
Al 20,020
AHELBEANS SN2 2 (XHH) 509,260 534,934 N25,674
307 @I2t0| & 509,260 534,934 N25,674
10 Al SXAEEE 22X 509,260 534,934 N25,674
OHA XSS X2 2|
509,260,000 509,260
=3 Nes 76,238,327 67,672,483 8,565,844
= 68,617,587
== 1,524,148
Al 6,096,592
301 2= 76,238,327 67,672,483 8,565,844
= 68,617,587
= 1,524,148
Al 6,096,592
01 Al 2EHHS(FREXM) 76,238,327 67,672,483 8,565,844
(OPJESULS 76,238,327,000& 76,238,327
= 68,617,587
= 1,524,148
Al 6,096,592
EZNE 028 SSHEEIHE X2 (X)) 8,200 8,200 0
201 fet=3| 1,000 1,000




SN COIFOfQI Dt
M MIISX SE(MEIEX/AMEIERILE)
&2l LoI=X &8 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,000 1,000 0
ossdEty =5+Y 1,000,000& 1,000
301 EtE2 N = 7,200 7,200
03 A2 E A0S (XILTHH) 7,200 7,200
OERAIE 0124 BEMEIIN 29
7,200,000 7,200
sx+d A2 10,000 10,000 0
301 22N 10,000 10,000
03 A 2E A4S (XL THH) 10,000 10,000
o4ioly JHE g==¢ K&
10,000,000 10,000
=l ALl X2 10,000 5,000 5,000
301 EtE N = 10,000 5,000 5,000
03 A 2 E A0 2 (XL THH) 10,000 5,000 5,000
O+l FHHl K& 10,000,000& 10,000
SHLO - SSH Ssd L8 AHA 28 X2 130,358 113,804 16,554
Il 65,179
= 32,589
Al 32,590
101 @124H| 52,961 41,114 11,847
) 26,482
S 13,239
Al 13,240
03 SR (RINHA) 222+ 24,127 0 24,127
ogAtl(ss2¢el)
2,010,580« 1H«12& 24,127
) 12,064
< 6,031
Al 6,032
MU IIRINZZENSES 28,834 41,114 A12,280
oglAdl(s=2el)
9,620 *1H*209Al 2+ 123 24,127
) 12,064
= 6,031
Al 6,032
C4UEE 2 (SSHCIAY
24,127,000« 11.177%+ 1 2,697
Il 1,349
= 674
Al 674
OE&= 167,481 x1&x 122 2,010
Il 1,005
= 503
Al 502




SN COIFOfQI Dt
M MIISX SE(MEIEX/AMEIERILE)
&2l LoI=X &8 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 72,690 72,690 0
Jl 36,344
== 18,173
Al 18,173
01 At22telt] 4,121 4,127 0
OSHLSSAH2EH(BHIRXESS)
4,127,000 4,127
Il 2,063
== 1,032
Al 1,032
2 35244l 68,563 68,563 0
(O=1= 68,563,000 68,563
Il 34,281
== 17.141
Al 17,141
04 HSRESS 4,707 0 4,707
Il 2,353
== 1,177
Al 1,177
M SRA(RIAL) 22N EESRE=s S 4,707 0 4,707
S EEEIS=REI
24,127,000+ 11.177%* 1 2,697
Jl 1,348
s 674
Al 675
O&l &= 167,4813 1+ 123 2,010
Jl 1,005
=S 503
Al 502
SHcel - ST S=Sd LHAHIA 25 XI&( 4,000 4,000 0
)
101 @124H| 4,000 4,000
03 SR (RINAHA) 222+ 4,000 4,000
O%xt+g, S22 M|
4,000,0002 12 4,000
ICTAH QIS Xs SE==SAE 24 90,590 90,315 275
Jl 90,590
101 @124H| 57,670 53,875 3,79
Il 57,670
04 JIZtN2Z2 XS 2=+ 57,670 53,875 3,79
OQI2dl S(HIOIOHLIX)
9,620 x2EH*x209A| 2+ 123 48,254
Jl 48,254
o428z 2,010,580 11177 12 x2H 5,3%4




2A:

X XH -
o=

el =X SE(ARISXI/AEI S XL E)
=X &

I - (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 5,3%
OEA= 2,010,580 x2H 4,022
Jl 4,022
201 er=23y| 32,920 33,320 2400
Il 32,920
01 At2t2ltl 5,600 5,600 0
(@R repestall 5,600,000& 5,600
Jl 5,600
2 S5=2g4l 27,320 27,720 2400
ost= 27,320,000 27,320
Il 27,320
ICTHH QIS Ks SEESSAY 2E(ZHI) 8,720 0 8,720
[ 8,720
101 @124H| 3,120 0 3,120
= 3,120
M ORIMZZ2NSE S 3,120 0 3,120
©04H| 3,120,000 3,120
= 3,120
201 223 5,600 0 5,600
< 5,600
01 AtR2t2|HI 5,600 0 5,600
ogegr=gl 5,600,000 5,600
s 5,600
SO NAE 2det € Jlsdst 394,400 0 394,400
= 25,840
Al 368,560
307 @20l & 394,400 0 3%4,400
s 25,840
Al 368,560
10 Al2ISTIAIEEE2HIEX 122,400 0 122,400
OAME 243t & JIsda X
122,400,000 122,400
S 12,240
Al 110,160
11 AMEISXAIEEXS 272,000 0 272,000
OAld 28| XI& 272,000,000 272,000
= 13,600
Al 258,400
2 eyl X2 40,000 0 40,000
< 8,000
Al 32,000
402 BIZtAH=01 A 40,000 0 40,000
& 8,000




2A:

E M

NI NVINEETEIN

2ih)

I - (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 32,000
02 QI XHE AL E R (01X THE) 40,000 0 40,000
O=g % =8| Uil Z2E dued| X
2,000,000 =20CH 40,000
== 8,000
Al 32,000
AHSEES oL 2IANY &F 365,021 0 365,021
101 @124H| 345,600 345,600
M JIZtHZ22 S 2 345,600 345,600
Ol el At IH|
270,0002 *320H ~4 & 345,600
201 er=23y| 9,421 9,421
01 AtR2t2|HI 2,048 2,048
OILNeIANY 2Z23(EL S)
512,000& x42 2,048
2 35244l 7,373 0 7,373
O QI Xtel AvH (DHCH)
1,843,200 «42 7,373
SAAIE 2t 2,215,088 1,626,502 588,586
= 220,000
< 110,000
Al 1,885,088
ZAIAIE 2(9IE) 1,364,488 1,249,838 114,650
308 XXM SOl 1,364,488 1,249,838 114,650
1 SIS0t oA AS A 1,364,488 1,249,838 114,650
OFANIE 28 S
1,364,488,000& 1,364,488
IAANE 2 2l 410,600 376,664 33,936
101 21A4H| 5,600 3,664 1,936
04 JIZtN2 2N S 2+ 5,600 3,664 1,936
OZAIAS 12 160,000 »7 & +53] 5,600
201 2= 45,000 45,000
01 At2t2lt] 15,000 15,000
OANSHEAES(SH)HUARBARS +4
= 15,000,000 15,000
2 s5=34l 30,000 30,000 0
OAEZHISNH (AR &)
30,000,000 x14] 30,000
206 M=H| 20,000 13,000 7,000
01 M= HI 20,000 13,000 7,000
O3&=z 2L M 7Y
400,000& *500H 20,000
401 AlZHIZL RO 320,000 300,000 20,000
01 Al&H| 320,000 300,000 20,000




2A:
X XH -
o e

=aak

LRIEORe! ot
ABIEX BE(ALZIEXI/ALZI S XL

=
TAAIE 2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oveld B8 x4 2A
100,000,000 *14] 100,000
OS2 LT 0l BA}
150,000,000 * 14! 150,000
OFRl S SHYS DA
40,000,000& *14] 40,000
OFelE ZANE 22FY U HB2 B
15,000,000& »23] 30,000
802 grat=JIEt 20,000 15,000 5,000
03 JIEtEtES S 20,000 15,000 5,000
osote & NHEX AtSE gets
20,000,000& 20,000
SEFAAIE EXIXIE 440,000 0 440,000
= 220,000
=S 110,000
Al 110,000
401 Al HIZ R 0HbI 440,000 0 440,000
= 220,000
= 110,000
Al 110,000
01 AlZH| 440,000 0 440,000
O=&EZ 2= 440,000,000 440,000
= 220,000
= 110,000
Al 110,000
A2ISXIAIE 2l 1,682,360 1,212,198 470,162
[ 31,680
= 22,176
Al 1,628,504
Ad2e| 23 44,000 21,500 22,500
201 er=23| 44,000 21,500 22,500
2 s5=34l 44,000 21,500 22,500
OZZY AYAIE 22
2,000,000 +27H 2= 4,000
0dzY A1 wcl=d
40,000,000 40,000
COIIIAIE AlE & OHE = 1,380,000 400,000 980,000
401 AIEHIZL S0 1,380,000 400,000 980,000
01 Al&H| 1,377,480 400,000 977,480
OsSHs 324 ME=+
1,000,000 *507H 2~ 50,000
ONLSEZE 2 74 THi & &HE wX
30,000,000& 30,000
O70IEZ2Y 2f 34 g
45,000,000 45,000




2A:

LRIEORe! ot

M MIISX SE(MEIEX/AMEIERILE)
SRl ARISXIAIE 2l (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=8d8=¢ 2 L H= Wi
40,000,000& 40,000
OE=2ZdZ2Y 2 7HA A3 WA
35,000,000 35,000
oguE2E 2 Sia Bt E &1 WA
30,000,000& 30,000
Ol0D|Et B2Y SPEHIEAAE EXIAY
1,000,000 *500H 2~ 50,000
Oll=3=2g &= 350,000,000 *14] 350,000
O=d3=2E &= 347,480,000 14] 347,480
oXl=E=2Y A= 400,000,000& *14] 400,000
03 Al 20HHI 2,520 0 2,520
Oo=d3=zg &= 2,520,000& 2,520
AEAl ZOHISXIAIE HE 195,000 700,000 /505,000
401 AIZHIXL S OHE 195,000 700,000 /505,000
01 AlZH| 195,000 700,000 505,000
OZASE=AZ =H ZSAE FH|
20,000,000 * 14! 20,000
OZMISE=A2 &, =G Bt i
2 25,000,000 * 14| 25,000
OXNHMHHAISHE AIRA cl2&ad
130,000,000 *14] 130,000
OZMASXAIE HES
10,000, 0003 x24! 20,000
VT2 CCTV XIZAALSE 63,360 0 63,360
= 31,680
S 22,176
Al 9,504
402 2I2F X201 & 63,360 0 63,360
[ 31,680
= 22,176
Al 9,504
02 QI X2 AL E R (01X THE) 63,360 0 63,360
OFIII|2 CCTV XIJAAH
63,360,000 63,360
[ 31,680
= 22,176
Al 9,504
LOI=EXAE 29 15,017,902 13,025,711 1,992,191
= 2,001,203
= 2,305,452
Al 10,711,247
ANE2S X3 806,625 802,800 3,825
= 236,888
Al 569,737




FA I OoNer
M MIISX SE(MEIEX/AMEIERILE)
ol Z=EXIANE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 2,000 2,000
01 At2teltl 2,000 2,000
OAlE 29 XNIH 2,000,000& 2,000
307 el2to| & 804,625 802,800 1,825
S 236,888
Al 567,737
10 AlRISXAZEE 22X 789,625 787,800 1,825
OLQI=NAIL BAR 25 X2
787,800,000 787,800
< 236,340
Al 551,460
OYZAIL ORIV Hoial X
1,825,000 1,825
= 548
Al 1,277
11 AMISXAIEEX 15,000 15,000 0
OFIILAI|IZ SAHL 0S8 S0tE At
A& 15,000,000 15,000
ANZERQE 22| (MEALY) 568,826 471,047 97,779
301 EtE NS 568,826 471,047 97,779
0 AR=R22a= 568,826 471,047 97,779
OMI =LY B==(2-1EH)
500,000,000& 500,000
OMI =R nSHI(2-1EH)
52,290,000 52,290
OAZ=ER2Y TI=HI(2-12H)
16,536,000 16,536
LZAE 2LH| X (HEAY) 705,311 705,311 0
= 557,194
Al 148,117
307 el2to| & 705,311 705,311 0
= 557,194
Al 148,117
10 AlISXAIZEHE 22X 705,311 705,311 0
ORBAZAIL(SL) 2HI(2-1EHH)
705,311,000& 705,311
< 557,194
Al 148,117
AZAlE 2l X2 (XHA) 10,000 10,000 0
307 212to1d 10,000 10,000
11 AMEISXAIEEE 10,000 10,000
OSEYZAIL(LY) LIS % 228
= K& 10,000,000 10,000
el =XAE 29 X 3,660,590 3,374,454 286,136
== 622,300




2A:

M MIISX SE(MEIEX/AMEIERILE)
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,038,290
301 EtE NS 3,660,590 3,374,454 286,136
=S 622,300
Al 3,038,290
02 ARSI SE AT S(FIANS, XLETHE) 3,660,590 3,373,494 287,096
Lo RAEE RS (AT SXIAl
&) 3,660,590,000& 3,660,590
< 622,300
Al 3,038,290
Mot ISXAIE 2 X 6,317,689 4,777,249 1,540,440
= 631,769
Al 5,685,920
301 EtE NS 5,855,689 4,337,249 1,518,440
=S 585,569
Al 5,270,120
02 ARSI SEHS(FIANS, XLETHE) 5,805,689 4,337,249 1,518,440
O QALERPYS (ML= =XIAl
&) 5,855,689,000& 5,805,689
< 585,569
Al 5,270,120
307 elzto| & 462,000 440,000 22,000
= 46,200
Al 415,800
10 Al SAAEEHE 22X 462,000 440,000 22,000
OMIH= X &M A 462,000,000 462,000
=S 46,200
Al 415,800
oIS EsSAEIA KA 2,858,861 2,827,850 31,011
= 2,001,203
S 257,301
Al 600,357
307 @I2t0| & 2,858,861 2,827,850 31,011
= 2,001,203
= 257,301
Al 600,357
11 AMEISXAIEEXS 2,858,861 2,827,850 31,011
OLI¥E==AHIA 28 K&
2,858,861,000& 2,858,861
= 2,001,203
= 257,301
Al 600,357
=0 =20l g5 N 90,000 57,000 33,000
307 @120l & 90,000 57,000 33,000




M LQIFOHID:
Ha: A

Cel: ZIEXIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 90,000 57,000 33,000
OLQIXESSMHIA HEXJA 2SH| X
el 90,000,000& 90,000
HAAES SXNST(MB=X DI ZHE L) 21,711,962 19,493,785 2,218,177
= 11,408,830
S 2,368,470
Al 7,934,662
gojersxsa 21,711,962 19,493,785 2,218,177
= 11,408,830
= 2,368,470
Al 7,934,662
o= 4,081,082 4,081,082 0
= 2,856,758
= 367,297
Al 857,027
301 EtE N = 4,081,082 4,081,082 0
= 2,856,758
[ 367,297
Al 857,027
01 A2 HSFS(RNEERTHE) 4,081,082 4,081,082 0
oS X 4,081,082,000& 4,081,082
= 2,856,758
== 367,297
Al 857,027
===kt Hoi=& 651,296 362,289 289,007
= 455,907
== 136,772
Al 58,617
301 22N = 651,296 362,289 289,007
= 455,907
= 136,772
Al 58,617
01 Al EE A S (FRNEXA) 651,296 362,289 289,007
oF+=< 651,296,000 651,296
= 455,907
= 136,772
Al 58,617
J=2 X HoH=E(&ZH]) 39,760 39,760 0
== 11,928
Al 27,832
301 22N = 39,760 39,760 0
[ 11,928
Al 27,832




SA I OoNer 1t
3 FHAANS SAST(MNASA DN ZLS2H)
el Joje=sIsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 39,760 39,760 0
OZ ==& (=Hl) 39,760,000 39,760
= 11,928
Al 27,832
MNEAHS U= 307,311 252,279 55,032
= 215,118
= 64,535
Al 27,658
301 EtE N = 307,311 252,279 55,032
= 215,118
< 64,535
Al 27,658
I EEE =R EEh EESTE) 307,311 252,279 55,032
OBUWLS(RHaR S) X
307,311,000& 307,311
= 215,118
< 64,535
Al 27,658
o 2=l X 178,085 178,085 0
= 142,468
[ 24,932
Al 10,685
308 XXM SOIA 178,085 178,085 0
= 142,468
== 24,932
Al 10,685
11 SI[2S0 e YA A A 178,085 178,085 0
OF0fe! 2=Hl X 178,085,000 178,085
= 142,468
= 24,932
Al 10,685
MNASEOHR! MEHl & ZAE X2 2,000 2,000 0
= 1,000
Al 1,000
301 EtE NS 2,000 2,000 0
= 1,000
Al 1,000
01 Al EEABZ(2DEER) 2,000 2,000 0
Ol SEAEH N&H 2,000,000& 2,000
= 1,000
Al 1,000
IR0 XI& 6,49% 6.,49% 0
= 5,197




SA I OoNer 1t
HE: oS SNSH(ME=X/ I ZMEET)
Rl ZoHI=XSH (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 1,29
301 EtE NS 6,4% 6,4% 0
= 5,197
Al 1,299
01 Al E2E AL S(FRDEXMA) 6,4% 6.4% 0
OFOMAEEIII| XIH 6,496,000 6.49%
= 5,197
Al 1,299
Zopel=2=x010] & | & HI X2 At 5,458 5,458 0
= 2,729
Al 2,729
301 EtE N = 5,458 5,458 0
= 2,729
Al 2,729
03 AR 2H A 6= (XLMSA) 5,458 5,458 0
OFMAL0I] & H2LHI XA
5,458,000& 5,458
< 2,729
Al 2,729
AFE E4Hl S XA 31,100 31,100 0
= 15,550
Al 15,550
301 EtE N = 31,100 31,100 0
= 15,550
Al 16,550
03 A2 H A0S (XIS THH) 31,100 31,100 0
OAIERMO XY E X2
31,100,000& 31,100
== 15,550
Al 15,550
ZoHIESKIE 20 K& 7,251,509 5,881,791 1,369,718
= 5,076,056
== 652,636
Al 1,522,817
308 AHXIHMS0IA 7,251,509 5,881,791 1,369,718
= 5,076,056
S 652,636
Al 1,522,817
11 S| 2SO0 ZBSHASAIE 7,251,509 5,881,791 1,369,718
OIS KIZ AL 7,251,509,000& 7,251,509
= 5,076,056
= 652,636
Al 1,522,817




SA I OoNer 1t
HE: oS SNSH(ME=X/ I ZMEET)
Rl ZoHI=XSH (SH9 H2)
SA - BB - I3 - MIRAE - ofl &t e DS
ESEX O 20 55,218 23,334 31,884
= 38,652
== 4,970
Al 11,59

308 XtXIEMSO0IH 55,218 23,334 31,884
= 38,652
=S 4,970
Al 11,59%

1 S 2S0UetE 4R A AL S| 55,218 23,334 31,884
OESEX It 20 55,218,000 55,218
= 38,652
= 4,970
Al 11,596

el =01 =& X& 288,960 288,960 0
== 86,688
Al 202,272

307 212t01& 288,960 288,960 0
< 86,688
Al 202,272

11 ARIZXAIE 2 X 288,960 288,960 0

O =01 =g A&

288,960,000 288,960
= 86,688
Al 202,272

LETHEAMEIA HISH K& 463,200 348,112 115,088
= 324,240
= 69,480
Al 69,480

308 AHXIEMSOIE 463,200 348,112 115,088
= 324,240
= 69,480
Al 69,480

11 SIS0t oA AS A 463,200 348,112 115,088
OgEMEMHIA A 463,200,000& 463,200
= 324,240
< 69,480
Al 69,480

LT FAESMEIAXR 643,475 568,320 75,155
= 450,433
[ 96,521
Al 96,521

308 XtXIEMSO0IE 643,475 568,320 75,155
= 450,433




SA I OoNer 1t
HE: oS SNSH(ME=X/ I ZMEET)
Rl ZoHI=XSH (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 96,521
Al 96,521
11 SIS0t oA AS A 643,475 568,320 75,185
OLLTIRl FAHSHHIA X2
643,475,000& 643,475
= 450,433
< 96,521
Al 96,521
LETHR LUSESAEIAXA 126,573 337,719 A211,146
= 88,601
[ 18,986
Al 18,986
308 AtXIEMSO0IE 126,573 337,719 A211,146
= 88,601
== 18,986
Al 18,986
11 SI[2S0 e YA AS A 126,573 337,719 A211,146
OZZMH LUSESAHIA XA
126,573,000 126,573
= 88,601
s 18,986
Al 18,986
ST LETML LAHIA H2ISEXE 98,692 0 98,692
& 29,608
Al 69,084
307 glztol & 98,692 0 98,692
= 29,608
Al 69,084
11 AMEISXAIEEXS 98,692 0 98,692
Oz 2L KA~ HEAHXEH
98,692,000 98,692
=S 29,608
Al 69,084
LM F24E X 1,920 1,920 0
= 1,344
=S 288
Al 288
308 AtXIEMSOIE 1,920 1,920 0
= 1,344
= 288
Al 288
1 SISt AS A Y] 1,920 1,920 0
OB B2 N X
1,920,000 1,920




SA I OoNer 1t
HE: oS SNSH(ME=X/ I ZMEET)
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,344
=S 288
Al 288
SO KHE X 21,000 21,000 0
< 6,100
Al 14,900
307 lztol & 21,000 21,000 0
= 6,100
Al 14,900
11 AMEISXAIEEES 21,000 21,000 0
OAIZIEOHR! JI=THE W=F
5,000,000& 5,000
S 2,500
Al 2,500
OFOEHA 2|2 st 2 X2
12,000,000 12,000
& 3,600
Al 8,400
O=0tel =0 wa X2 4,000,000& 4,000
oHel SXNAL2SXE 262,375 262,375 0
s 78,713
Al 183,662
307 @I2t01 & 262,375 262,375 0
< 78,713
Al 183,662
10 Al SXAEEHE2EHI2X 262,375 262,375 0
OHUMUHFAIE ORIZRA & A&
12,775,000& 12,775
= 3,833
Al 8,942
OZUMA=SXAIE SAL =& XIE
137,800,000& 137,800
== 41,340
Al 96,460
OHMHAXNATHE AL SAHL =& K&
33,800,000& 33,800
= 10,140
Al 23,660
OFMI=X2 SALA =& A&
78,000,000 78,000
== 23,400
Al 54,600
Zofelsssi 2EX 1,609,359 1,517,587 91,772
= 51,100
Al 1,558,259




2A:

L
3 %“—_Igfﬁlé SXSE (A ZMEEE)
el ZoHeIsXsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 212+01& 1,609,359 1,517,587 91,772
& 51,100
Al 1,558,259
05 2ItRIE =S 1,609,359 1,517,587 91,772
o¥iISE=A2 29
1,609,359,000& 1,609,359
= 51,100
Al 1,568,259
O HFAIE2 S XIE 1,344,328 1,344,328 0
= 941,029
= 120,997
Al 282,302
307 @20l & 1,344,328 1,344,328 0
= 941,029
= 120,997
Al 282,302
10 Al SXAIEEHE2EHI2x 1,344,328 1,344,328 0
OHMAANFAIE 2SN
1,344,328,000& 1,344,328
= 941,029
= 120,997
Al 282,302
O ANFAIE s2E K 24,990 24,990 0
= 17,493
= 2,249
Al 5,248
307 elztol & 24,990 24,990 0
= 17,493
& 2,249
Al 5,248
10 AlRIS XA EEE 22X 24,990 24,990 0
OBNAHFAIL BUE
24,990,000 24,990
= 17,493
== 2,249
Al 5,248
JofelssHEIE 2EX2 86,544 56,500 30,044
307 glztol & 86,544 56,500 30,044
10 AlISXIAIEEE 22X 86,544 56,500 30,044
OAMESA Y SSdHEIHE 28
60,504,000& 60,504
(OS] 26,040,000 26,040
O XSIHEANE 2E NS 721,380 707,862 13,518
[ 24,000




SA I OoNer 1t
3 FHAANS SAST(MNASA DN ZLS2H)
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 697,380
307 gl2tol & 721,380 707,862 13,518
=S 24,000
Al 697,380
05 git?(& = 441,613 432,276 9,337
OAEAZHALESHAE 2
441,613,000 441,613
< 12,000
Al 429,613
10 Al SXAAEEHE 22X 219,767 275,586 4,181
OMZ B0 SRR
279,767 ,000& 219,767
S 12,000
Al 267,767
o F=2AESAE 2E X 752,300 643,579 108,721
[ 88,300
Al 664,000
307 glztol & 752,300 643,579 108,721
= 88,300
Al 664,000
10 Al SXAAEEHE 22X 752,300 643,579 108,721
OZ=2UESHE 29
645,000,000 645,000
= 60,000
Al 585,000
OAIZE0HRl =UHESHEH 29
107,300,000 107,300
< 28,300
Al 79,000
SO SAHE 2SS 138,200 131,950 6.250
= 5,700
Al 132,500
307 gl2to| & 138,200 131,950 6,250
=S 5,700
Al 132,500
10 Al SXAI2EE 22X 138,200 131,950 6,250
ox=0S9He 29 138,200,000 138,200
< 5,700
Al 132,500
Z0HQ MEOISKIJAME 2S X 117,359 112,838 4,521
= 6,800
Al 110,559
307 elztol & 117,359 112,838 4,521
= 6,800




SA I OoNer 1t
HE: oS SNSH(ME=X/ I ZMEET)
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 110,559
10 Al SXAZEE 22X 117,359 112,838 4,521
OZ AL 0ISAEEH =24
117,359,000 117,359
== 6.800
Al 110,559
SN S MEXHHE K& 181,000 181,000 0
= 54,300
Al 126,700
307 elzto| & 181,000 181,000 0
= 54,300
Al 126,700
10 AlISXAAEEHE 22X 181,000 181,000 0
OTONO! MRMETRHE 2
181,000,000 181,000
== 54,300
Al 126,700
ZoHlE oS|I =2 M 2 K& 113,000 63,000 50,000
= 33,900
Al 79,100
307 elzto| & 113,000 63,000 50,000
= 33,900
Al 79,100
10 Al SAAEEHE 22X 63,000 63,000 0
OZOMAEASED|=XRMH 2
63,000,000 63,000
s 18,900
Al 44,100
11 AMEISXAEEES 50,000 0 50,000
O OHAEIAIL AE AL X2
50,000,000 50,000
= 15,000
Al 35,000
ZJOHIIIEAEMH 28 K 106,000 106,000 0
=S 31,800
Al 74,200
307 21201 & 106,000 106,000 0
< 31,800
Al 74,200
11 AMEISXAEEES 106,000 106,000 0
OZRIIEXAHE 24
106,000,000 106,000
= 31,800
Al 74,200




SN COIROfQI D
3 FHAANS SAST(MNASA DN ZLS2H)
el ZoHeIsXsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZIONQI MICH At 2tel X 84,000 84,000 0
= 29,400
Al 54,600
307 el2to| & 84,000 84,000 0
= 29,400
Al 54,600
1 AMISXAIEEXS 84,000 84,000 0
OZZZHOHMICH Atcdlzte] X
84,000,000 84,000
== 29,400
Al 54,600
HEZ0e BsX 27,913 27,618 2%
= 19,539
== 2,512
Al 5,862
307 212+01& 27,913 27,618 295
= 19,539
= 2,512
Al 5,862
11 AMISXAIEEX 27,913 27,618 295
O0EEMH WX A
27,913,000 27,913
= 19,539
= 2,512
Al 5,862
OdEe Dsat 4,000 4,000 0
[ 2,000
Al 2,000
307 elztol & 4,000 4,000 0
S 2,000
Al 2,000
11 AMEISXAIEEE 4,000 4,000 0
OUdEM JISES U=
4,000,000& 4,000
= 2,000
Al 2,000
Mg el sdtHlE N 2,000 2,000 0
= 1,400
= 180
Al 420
301 EtE2 NS 2,000 2,000 0
= 1,400
= 180
Al 420




2A:

L

—_4
Ha: For|

XHOHOI

S —

E SXNSE(MISX/DIZHEEE)
=aak oI =XISa! (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
01 Al B& XS Z2(2REETA) 2,000 2,000 0
OW&ZOC! S4tHIE XA
2,000,000& 2,000
= 1,400
= 180
Al 420
ZOHQI XA 306,049 248,032 58,017
201 L2 | 21,000 13,000 8,000
01 AR r2IH] 1,000 11,000 0
Zojel SAAY 222 S HN
5,000,000& 5,000
OXFOHe!l X=Xt EAI +L
1,000,000& 1,000
OMEAIZCIESKA=SE Ao
5,000,000& 5,000
02 32| 10,000 2,000 8,000
O el =SXSAHE HHAHESE It
2,000,000& 2,000
OO Lol SS FIg WSEXI|I| oH
28 A& 8,000,000& 8,000
202 Ot 1,000 1,000
01 =WO4bI 1,000 1,000
OZAEZ NI 1,000,000& 1,000
301 LPENZ 23,400 21,400 2,000
03 A3 2 & A6 2 (R THA) 2,000 0 2,000
OAIZTEOHC! 2 X102 & B3 K&
40,0003 50 2,000
11 HAAHIXIE S 21,400 21,400 0
OZOHA XIS AICHS] &AXF AHIXIA
800,000& 800
OZOAX2IHE & 2AtWSE FA X A
X3 600,000 600
OXd= H==H0HQ (HSEHE0E &IHAF &
HIXI& 800,000 800
OFOHR! JIsZIItHEl &AX AdIXI&
1,100,000& 1,100
OO SIIME cHEEHS AR Alb|
X3 600,000 600
Ol gsZEA(T) HAX AHIXIR
600,000 600
OX= =0t2ltisl AKX AHIXIA
1,500,000& 1,500
Od= =s0LIM=E EAX AKX
1,100,000& 1,100
OSSH0C! LHSOIHAH AT+ AHIXI&
300,000 300




SAT OIEOfQI T
3 FHAANS SAST(MNASA DN ZLS2H)
=aak oI =XISa! (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORMI=XAE BAK 998 28K &
BIXI& 1,200,000 1,200
OF2 AN & BAIEAK MK
! 1,400,000 1,400
OME=HENO OletEU2 HAFAL o
BIXI& 900,000 900
OAIZHONQ EIXIZOIS ' BAFRAT &
BIXI& 2,100,000& 2,100
o=t MeEsts FIMAL &bl
1,300,000 1,300
OHOHEHY Selstn) RAASAH SIHAF A
X2 6.000, 0002 6.000
OTE NMENO! SHOISTHE ZIIX At
A& 1,100,000 1,100
307 gl2to| & 235,649 212,632 23,017
03 PIAHNEE 22X 56,000 50,000 6,000
OFoeIEtH 28l X3
56,000,000& 56,000
05 2ItRIE = 113,149 105,132 8,017
OZHMOIEAl 2 XI& 113,149,000 113,149
11 AMEISXAEEES 66,500 57,500 9,000
O SXsUH X2
35,000,000& 35,000
Ol & Xt& Xt 4,500,000 4,500
OZots SXsdU= XA
4,000,000 4,000
Ol 2O ==cl At
23,000,000& 23,000
401 AIEHIX R0 25,000 25,000
01 A28l 25,000 25,000
OZUMASE=AZ HA MO cIlZE &
N 25,000,000& 25,000
ZOoHIE Rl X& (ML ML Rtel) 767,006 767,006 0
= 383,503
= 115,051
Al 268,452
101 21AH| 767,006 767,006 0
= 383,503
= 115,051
Al 268,452
04 JIZtNZ22 NS+ 767,006 767,006 0
Ol MeX LAl A
767,006,000 767,006
= 383,503
= 115,051
Al 268,452




SN COIROfQI D
3 FHAANS SAST(MNASA DN ZLS2H)
el ZoHeIsXsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oL X2l XI& (Al Rt2l) 289,666 289,666 0
= 144,833
== 43,450
Al 101,383
101 e124d| 289,666 289,666 0
= 144,833
=S 43,450
Al 101,383
04 JIZtN2Z2 XS 2 289,666 289,666 0
OZ0H! AIZHAI &Xtel K&
289,666,000 289,666
= 144,833
= 43,450
Al 101,383
ZoHId Kl K& (SXLX2l) 399,264 399,264 0
= 199,632
= 59,890
Al 139,742
307 @120l & 399,264 399,264 0
= 199,632
= 59,890
Al 139,742
05 212t =S 399,264 399,264 0
O SXILXtel X
399,264,000 399,264
= 199,632
= 59,890
Al 139,742
ZHOHQI L Xt XI & (&) 30,840 30,840 0
=S 16,420
Al 15,420
307 21201 & 30,840 30,840 0
< 15,420
Al 15,420
05 DI2F9IE2 30,840 30,840 0
OFOHOI L X2l XIR (S H])
30,840,000& 30,840
= 15,420
Al 15,420
LR LYESA EXL XL 91,254 0 91,254
= 45,627
= 13,688
Al 31,939
307 elztol & 91,254 0 91,254




SN LoIZ0felD
3 FHAANS SAST(MNASA DN ZLS2H)
el ZoHeIsXsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 45,627
=S 13,688
Al 31,939
05 git?(& = 91,254 0 91,254
OZLHMR QLLYESAF 2R el
91,254,000 91,254
= 45,627
= 13,688
Al 31,939
WS (A HOHID) (AL SXI/ ARSI SR L) 410,769 0 410,769
WA XIE 410,769 0 410,769
WA XIE 410,769 0 410,769
(VIS TSE= 410,769 0 410,769
01 JIsdEsS 410,769 0 410,769
o=l dE= 410,769,000& 410,769
YA HHI(=QIF0HRI) (DIEHIIE}) 61,800 79,400 A17,600
=34 61,800 79,400 A17,600
Jl=3H] 61,800 79,400 A17,600
201 er23| 12,000 8,000 4,000
01 At2t2ltl 6,000 6,000 0
Ogt+==H| 6,000,000& 6,000
02 S3=4gl 6,000 2,000 4,000
O0ssR= € MA 6,000,000& 6,000
202 04| 45,600 67,200 /21,600
01 2K 45,600 67,200 /21,600
OZ =0 45,600,000 45,600
203 gF=4| 4,200 4,200
| 4,200 4,200

o &

o F
jo 1T
> x
Mo MO |
02 08
e @
10
I
™

>

360,000 123 4,200

10
Jn




